CS5/386   Fall 2009
Quiz 6   Nov 24
1. A row in the Schema   

                        Assigned ( EmpID, JobID, EmpName, percent) 

means that an employee with that EmpID is assigned to the JobID that percent time and has that EmpName.  Describe an update anomaly that can occur with this schema.
ANSWER: If an employee’s name changes, it must be updated for every job the employee is assigned to.
2. Consider the schema R( A, B, C, D ) with the key A and the functional dependency BC(D.  Decompose R losslessly into BCNF schemas.  Indicate the keys and the FDs of the decomposed schemas.
ANSWER: The decomposition is into R1(A, B, C) and R2(B, C, D)  No nonkey, nontrivial FD in either relation.
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